8 Algebra CC .

8-5

Essential Question: Which algebraic methods can we use to solve a linear system?

Do Now: Consider the system: -x+y =3
2x+y=6

a) Which algebraic method (elimination or substitution) would you use? Be ready to justify your

‘response.
elimination
(muliply top by 2
4o create an additive
inverJe)

b) Will both methods produce the same solution?

solve either €Y since each

equatiza has ay w ith 4
co-efficient of -1
yu

1) 2x+y=6

_ 2xty=6
...2('x-3y=—11>

- 2x4by=+22
-7\,*:23
[¥=4]

2x +y=6
2x + 4 =06
2% =2

‘check  solution Cl,‘f)

2x +y =06 % =8 =i
2(04-‘{-"0' f-3("‘()=““
6=b v 1-12 =-1|

3) Think About This! -1t ==l

2) lp=12-6x > Gx+Ity= 12
2x+6y=4 -S(ZX + by =

bx + 11y =12
—bx -I18y=-]2

p—

-..I-IY =0

[y:o]

zx+by =4
2x +6(0)="
2x = 4

check (2,0) |

Hy = 12-bX 2xtby=4
N = /7~ 2¢2)460)=9
RO

. Consider the system below. Dana said that she can solve this system using elimination by muliplying the

Top equation by -2 and the bottom equation by 5.

Is she correct? Why? .

Could Dana choose different multipliers and still eliminate a variable term? Explain.

—2(5x-2y=20 )
5(2x+3y-= 27)

3(5x-2y=20) — [5%X-by = b0
X +tby=52

z( 2% +3‘y=27)

—~Jox +Hy =-20
[ox +15y =135

‘ ‘Dand s correct becawre
‘che created a PafraF
additive Inverseds .

she covld also Rawve x
mulﬂ)ah‘ea( +he top a;jwd-zm
by 3 and +he bottom by 2
4o create a z€re palc £or y.



X Cr-ecrre a linear system fo solve each problem below. Choose an algebralc me.fhod
(subshtuhon orelimination) to solve your system.

4) Two srnall pitchers and one large pitcher can hold 8 cups 61‘ water. .One large pitcher minus o
one small prl'che.r can hold 2 cups of water. How many cups of water can each pitcher hold? -

| Let x = capacity of Stall pitchec substitution  elimination -
L_e_-l-y = C“LF"LCH'T of larﬂa Frh’ké‘r‘ ‘m 5 Zx-# y = 8
- Y-xz2_ =i (Fxty 72)
- - T ) i : = ’
-small pr}cf\t’r I\OMLS 2 cups of water. y= Zx—f-? 2x+.§/ -9
{(,u—a.z, pa-}d\er hoids cupdy of u/a+€(" Y,x :2 X - Y :;
(-2x48)-x =2 | T

o .... = ’ -
2x 4y = 7 B 3_><3+x‘3: b - (X=22
2¢2)4 | 2x+y =8
5) Pam has two part time jobs. job, she works as a cashier cmd makes $8 per hour, 2(2)+Y = ]

At the second job, she works as a tutor and makes $12 per hour. One week she worked 30 5
hours and made $268. How many hours did she spend at each Jjob? : 1

 syslem 2 varisbies means yov need 2 equations fo <olve
Let x
o tety

I\

number of hovrs -fvﬁ:rmg : ' - s 71\ou~rJ

7

number of hovrs werkiny as a cathier — 5 23 hovry
5( w4y =30) —> —Bx-Gy=-240

1)

|  check. (7,23) .
A 2x +3y = 2673 | e
IZX+3Y Z263% , . y 3 X+y=30 JZXI+37=2(‘93
el ”-" = 7423230 j2(7)43(23):=2b
ok - . 30=20 343 [34=208
e X +y =30 %
e : 74y =30 12‘23'

‘ : 262 =263
6) The sum of two angles is 90°. The difference between twice the larger angle and the '

—
smaller angle is 105°, Find the measures of the two angles. . s 8
Le_+‘ X = ,4rﬁ-ef‘ aLr\jlf_ Y + y = 70 ' I C;\E‘Ck. (6&25) B
Let \/f- S maller ar\:)le_ _2)('—'Y‘-’/0_5_' | x+)”:?0
SX =i L5 +25°90
| - 90=90 v
x+y=90 y -
| ; 2X-Y =108
65 +y =790

. ) =25 = 105
1

}30~-25 = JO5
/05 = 105
,\/



